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1 F W #% % ED CC| 66.0| 11.0] 77 (40/37) 77
2 MR R 2 FIRER CcC| 70.0] 7.0 77 (38/39) 77
3 B * /4 ED CC| 71.0] 7.0/ 78 (40/38) 78
4 B B B 1 =W GC| 71.0| 6.0 77 (38/39) 77
5 b= H# z ED CC| 73.0] 11.0] 84 (42/42) 84
6 #HoRm = & FLIRA A GC| 74.0| 6.0/ 80 (41/39) 80
6 Al R B A—v9vF GC| 740 8.0 82 (41/41) 82
8 i £ =} =k GC| 75.0| 11.0] 86 (45/41) 86
8 5 B B F TIN—5Y—> GC| 750 4.0 79 (41/38) 79
8 # W B — H1h0 CC| 75.0] 8.0 83 (42/41) 83
8 2 1% = tRIFHA CC| 75.0] 8.0 83 (41/42) 83
8 ® £ E - HE CC| 75.0] 14.0] 89 (43/46) 89
8 B B B = HGABAEE 75.0[ 11.0| 86 (40/46) 86
14 W 5 {# BHLHA2%— GC| 76.0] 10.0| 86 (45/41) 86
14 o E = HGAME AL E 76.0[ 9.0 85 (43/42) 85
14 & % B\ O x HGAME AL E 76.0( 10.0| 86 (43/43) 86
17 N EROE B #* GC| 77.0| 4.0 81 (44/31) 81
17 R B & B LIIN=T CC| 77.0] 7.0 84 (44/40) 84
17 X N B B HIRTILL CC| 77.0] 6.0/ 83 (43/40) 83
17 = B #® = BHIAEYTIL CC| T77.0] 80| 85 (43/42) 85
17 W 2 sh m ji—E 3 GC| 77.0| 10.0| 87 (43/44) 87
17 & B Kk Al FIRER CC| 77.0] 8.0/ 85 (40/45) 85
23 = 15 Bh HGAME AL E 78.0[ 11.0| 89 (48/41) 89
23 B # & A—99vF GC|78.0] 10.0] 88 (46/42) 88
23 B B & F Ly hbL—ERBIF CC| 780 7.0 85 (41/44) 85
23 r & =& A el CC| 78.0] 9.0 87 (42/45) 87
27 £ PN g F7—LvyHPR GC|79.0] 50/ 84 (45/39) 84
27 F H B B2 HIRTILL CC| 79.0] 8.0/ 87 (46/41) 87
27 EZ2 o0 7 2 —t3 GR| 79.0] 9.0 88 (45/43) 88
27 Fi = % FILRY GC| 79.0| 7.0/ 86 (43/43) 86
27 B & & A BFFIIR GC| 79.0| 13.0] 92 (46/46) 92
27 E X B & #* GC| 79.0| 13.0] 92 (45/47) 92
27 A B — B IyLOwsd  CcC| 79.0[ 11.0] 90 (42/48) 90
34 & # F A—99v K GC|80.0| 13.0] 93 (52/41) 93
34 moE B’ — FLIRA A GC| 80.0/] 6.0 86 (48/38) 86
34 5 &\ — 8 ED CC| 80.0] 4.0/ 84 (44/40) 84
34 F B B = ED CC| 80.0] 8.0/ 88 (45/43) 88
34 A & &, 7TF—LvyHPR GC| 80.0| 7.0 87 (44/43) 87
34 NN R - R k0 CC| 80.0] 12.0] 92 (44/48) 92
34 B % E R E BJIE CC| 80.0] 7.0 87 (40/47) 87
41 B A B % EEEFLIR CC| 81.0] 8.0 89 (48/41) 89
41 = % Bl Y44 YUREF CC|81.0] 6.0 87 (44/43) 87
41 F Ok B B ZFLYSTwH C |81.0[ 10.0] 91 (46/45) 91
41 5 #% IE IE HIRTILL CC| 81.0] 8.0/ 89 (44/45) 89
41 E B F A Db &4 CC| 81.0] 11.0] 92 (43/49) 92
46 /AR TR | ED CC| 82.0] 10.0] 92 (49/43) 92
46 F ® R dEEIILYIR CCl 820 9.0 91 (48/43) 91
46 B N & =% =W GC| 82.0| 13.0] 95 (47/48) 95
46 X I £ t RAR S E CC| 82.0] 12.0] 94 (46/48) 94
50 % b M T9—4-Tx> GC| 83.0] 6.0 89 (47/42) 89
50 L NI N (3 Bx CC| 83.0] 10.0] 93 (49/44) 93
50 ® M OE A ED CC| 83.0] 80| 91 (47/44) 91
53 = B O xXx B B R CC| 84.0] 14.0] 98 (53/45) 98
53 B & B 17 #A—99v K GC|84.0| 10.0] 94 (51/43) 94
53 W o @E & R CcCl[84.0] 7.0] 91 (46/45) 91
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53 X & B X a— keI cc| 84.0] 80| 92 (46/46) 92
53 N B F O L3 GC| 84.0| 10.0| 94 (46/48) 94
53 N B - 2 B E R cc| 84.0] 10.0] 94 (46/48) 94
53 B OH E T + 8% cc| 84.0] 3.0 87 (42/45) 87
53 B B & £ HEV—HYAEK CC|s8s40| 9.0 93 44/49) 93
61 it :72] B x4 HREF7 CC| 850 80 93 (50/43) 93
61 # R F # + 5% CC| 85.0] 7.0 92 (49/43) 92
61 N B SF) JL—FHER CcCf 8500 0.0 85 (44/41) 85
61 PN = E= BFIETRI GC| 85.0/ 3.0| 88 (45/43) 88
61 s B X = FILRY GC| 85.0] 8.0/ 93 (44/49) 93
66 K 2 = BEGN CC| 86.0] 4.0/ 90 (49/41) 90
66 & B B & BEGN CC| 86.0] 9.0 95 (48/47) 95
66 ! = £ T7—45Sw/Ry GC| 86.0] 9.0 95 (48/47) 95
66 E OB # 2 F—¥YLAYEIL GC| 86.0] 8.0 94 (47/47) 94
66 B Lt # & B E R CC| 86.0] 6.0 92 (45/47) 92
7 B s & KB BIRHER CC| 87.0] 8.0 95 (51/44) 95
7 w K & = Bx CC| 87.0] 10.0[ 97 (50/47) 97
73 W R #E — #A—99vF GcC|88.0| 13.0] 101 (54/47) | 101
73 a b} #odiEEIILY I R CcC| 88.0[ 13.0] 101 (53/48) | 101
75 B Nl B = nNyE—-/nNL— GC|89.0] 9.0 98 (49/49) 08
76 E B B % 8 CC| 90.0] 7.0 97 (49/48) 97
77 = B B YzA4OURE7 CcC|91.0] 8.0 99 (52/47) 99
78 B B O X JGAY 1Z72E 92.0[ 13.0] 105 (56/49) | 105
79 F WL B +£ HGAB A S 93.0] 6.0| 99 (53/46) 99
80 bir = = T CC| 94.0] 9.0 103 (57/46) | 103
81 Al OB I & ED CC| 95.0] 13.0[ 108 (58/50) | 108
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Ri5 7 H % tH NyEF—-/nL— GC
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